A

DNA-System [ k562 wt] | y51-T_To0 vo1-T 128 || ys2-1 10  ys2-1 128 || y83-T 10 yE3T 128 || yA4T TO  yBa-T T28
AM X, X X, X X, X X, Y X, Y X, Y X, Y X, Y X, Y
D6S1043 | 11,15 11, 11 11, 11 12,13 12,13 12, 12 12, 12 13,13 13,13
Penta E 5, 14 10, 11 10, 11 7,11 7.1 11,17 11,17 7,13 7,13
D16S539 | 11,12 12,13 12,13 9,9 9,9 9,12 9,12 11,13 11,13
D18S51 15, 16 13,17 13, 17 12, 20 12, 20 17, 18 17, 18 15,18 15,18
Penta D 9,13 11,13 11,13 7,14 7,14 10, 13 10, 13 13, 14 13, 14
p21s11 | 29,31 30,31.2 30,31.2 26, 32.2 26, 32.2 29,30 29, 30 312,322 312,322
D7S820 9,11 10, 11 10, 11 9,12 9,12 9,10 9,10 9,10 9,10
D195433 | 14,142 13, 14.2 13, 14.2 13, 14 13, 14 14, 16 14, 16 13, 14 13, 14
K562 y5_aAPC CD40L/pp65 CNT
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